3,924
-2,735

WHEN SUBTRACTING
START ON THE RIGHT

3,924

~
-2,/35~
9

8 1.1 g
39724 ™

BORROW FROM THE
2,SUBTRACT 14-
5,WHICH EQUALS 9.

3924 3,924
2735 -2,735 -2,735
89 8 9 118 9

9,SUBTRACT 1
-3,WHICH EQUALS 8.

7,WHICH EQUALS 1.

2,WHICH EQUALS 1.

1. 287 2. 719 3. 392 4. 575 5. 430
- 232 - 436 - 65 - 266 -116
6. 632 7. 847 8. 295 9. 407 10. 536
- 318 - 298 271 - 156 - 228
1. 3,562 12. 2,640 13. 6,570 14. 7,285 15. 4,590
- 678 -2,480 -3,784 - 348 - 2,841
16. 9,489 17.7.156 18. 8471  19. 2,857 20. 5,048
- 3,653 -3.432 - 3,291 - 1,654 - 3,026

\\ (N .
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2,728 - 619 =

REWRITE PROBLEM SO
YOU CAN WORK
DOWNWARDS.

2,728
- 619

1. 713 -547=

4.747 -558 =

7.1,254 -274 =

10.7,755-5,344 =

13.9,688-7,435 =

MAKE SURE YOU LINE UP
THE NUMBERS
CORRECTLY.

2,728

- 619
2,109

SOLVE LIKE YOU DID ON g“ M

2. 940-178 =

5. 373-296 =

8. 4,625 -3,527 =

11.2,675-1,486 =

14.5,843 - 2,764 =

© Mathcrush.com

THE PREVIOUS PAGE.

3.579-263 =

6.445 - 275 =

9.3,342- 1,956 =

12.6,321- 3,543 =

15.4,876 - 3,576 =




